

I. MEETING CALLED TO ORDER AT: 7 PM (TIME) BY: VAUGHN TANTLINGER. PLEDGE OF ALLEGIANCE

II. ROLL CALL: PAUL ALTIMUS-ABSENT VAUGHN TANTLINGER-PRESENT JAMES BROWN-PRESENT SECRETARY-PRESENT (EJB)

SOLICITOR-PRESENT(JWM) CITIZENS-7

III. PREVIOUS MONTHS MEETING 3/8/2018 APPR BY VAUGHN; 2ND BY JAMES; UN-2 YES/0 NO) (V. TANTLINGER-YES/J. BROWN-YES) **SPECIAL MEETING HELD** ON 3/27/18 FOR COMMERCIAL PACKAGES AND WORKERS COMP. APPR BY JAMES; 2ND BY VAUGHN; UN-2 YES/0 NO) (V. TANTLINGER -YES/ J. BROWN-YES)

IV. TRUE BILLS PAID AND TO BE PAID ON FINANCIAL STATEMENT DATED MARCH 2018. APPR BY VAUGHN; 2ND BY JAMES; UN-2 YES/0 NO) (V. TANTLINGER -YES/ J. BROWN-YES)

V. CORRESPONDENCE: 1. QUAKER SALES-DOWNSTREAM NOTICE-THEY NOTIFY US OF CHEMICALS AT THEIR DISPOSAL. 2. BOLIVAR BOROUGH—SUMMER KIDS PROGRAM AT YMCA OF LIGONIER FOR 6 WKS, M-W-F FROM 9A AM TO NOON. CRAFTS AND SPORT, DRINKS FOR CHILDREN. THEY HAVE 2 YMCA EMPLOYEES THERE AT THE BERKEY PARK, LINCOLN STR, BOLIVAR AT COST OF \$1400. BOLIVAR BOR. IS ASKING IF FAIRFIELD TWP WOULD CONTRIBUTE \$150 TOWARDS THE EXPENSE. JIM AND VAUGHN LOOKED OVER IT AND HAVE NO PROBLEM IN MAKING A CONTRIBUTION. MOTION BY VAUGHN TO APPROVE DONATING \$150 TOWARDS THE COST; 2ND BY JAMES; UN-2 YES/0 NO) (V. TANTLINGER -YES/ J. BROWN-YES)

VI. PERSONS PLACED ON AGENDA: 1. ANDY LONG-HERE ON GARBAGE ON PEOPLES' PROPERTY AND WHAT CAN BE DONE. EXAMPLES ARE LAWRENCE CLARK, EAN'S, MARSH PROPERTY, HOUSE THAT WAS BURNED AND NEVER CLEANED UP. SOLICITOR STATED TWP. DOES NOT HAVE A NUISANCE ORD, TWP HAS TAKEN A HANDS OFF APPROACH. IT COMES DOWN TO ENFORCING IT, TWP HAS NO POLICE NOR A CODE ENFORCEMENT OFFICER TO ENFORCE IT. TWP WOULD HAVE TO CONTRACT TO PROSECUTE. BONNIE ASKED IF THERE WAS SOMETHING WITH THE STATE. SOLICITOR STATED THAT HE RECALLS THE DEP BEING CALLED OUT BEFORE AND EITHER ISSUED CITATIONS OR A CEASE AND DESIST ORDER. ANDY STATED DEEMER'S HOUSE WHEN IT WAS BURNED, CONDEMNED; ANOTHER ONE ON THE HILL WHERE THE GARLAND GIRL LIVED-SHE WAS CITED FOR THROWING GARBAGE OUT IN THE YARD. THESE ARE A HEALTH HAZARD. SOLICITOR STATED ANDY IS NOT THE 1ST ONE TO COMPLAIN. ANDY ASKED IF THERE WAS A PROGRAM TO HELP PEOPLE GET HOUSES TORN DOWN AND CLEANED UP FOR THEM. SECRETARY STATED DEEMER'S WERE SENT THE PAPERWORK 2 TIMES TO GET HELP FOR DEMOLITION, THERE IS CERTAIN TIMES THE WESTMORELAND COUNTY HAS THIS PROGRAM. THE TWP HAS DONE THEIR PART. VAUGHN SAID MAYBE TRY TO FIND AN AGENCY. SECRETARY STATED THERE USED TO BE PROGRAM THAT THE TWP OPTED OUT OF YEARS AGO WITH INSURANCE MONEY RECEIVED FOR FIRES, ETC. THAT A CERTAIN PERCENTAGE WAS WITHHELD UNTIL THE PROPERTY WAS CLEANED UP OR IT WAS USED TO CLEAN IT UP. SOLICITOR STATED IT STILL CAN BE DONE. ANDY SAID THERE IS SOME PLACES IN RIDGEVIEW TOO THAT NEEDS CLEANED UP. VAUGHN TOLD ANDY THE TWP WILL LOOK INTO IT FOR THEM.

VII. OLD BUSINESS: 1. ANNOUNCE IW COG BID FOR 2018 ROAD MATERIAL OPENED MARCH 26, 2018 BIDS RECEIVED FOR STONE ON MARCH 26, 2018-SPRING ROAD MATERIAL 2018 I-W COG BID

	1	2	3	4	5	6	7		8	3	9
Ton	3000	3000	1000	1000	1000	4000	2000	2000	2000	2000	1000
	#8 SC w	#8	#67 W	#67 #2	#57 W	#57 (2b)	#2RC SL	#2RC	#2A SL	#2A	#3
BIDDER	DEL	DEL	DEL	DEL	DEL	DEL (2b)	DEL	DEL	DEL	DEL	DEL
BULLSKIN						19.95		17.80		17.80	20.15
STONE	0.00	0.00	0.00	0.00	0.00	79,800.00	0.00	35,600.00	0.00	35,600.00	20,150.00
DERRY											
STONE	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00
HANSON	30.25	27.50	21.25	21.25	20.50	20.50		17.50		17.50	20.50
AGGR.	90,750.00	82,500.00	21,250.00	21,250.00	20,500.00	82,000.00	0.00	35,000.00	0.00	35,000.00	20,500.00
SLEEK		27.00		23.50		23.50	0.00		15.00		23.59
TRKG	0.00	81,000.00	0.00	23,500.00	0.00	94,000.00	0.00	0.00	30,000.00	0.00	23,590.00
			40	13							
	10	11	12	15							
Ton	10 1000	11 500	500	500	*TOTAL IS C	ONLY THE TO	TAL AM			СН.	
Ton					*TOTAL IS C	DNLY THE TO	OTAL AM	OUNT AWAR	DED TO EA	CH.	
Ton BIDDER	1000	500	500	500	*TOTAL IS C		DTAL AM	OUNT AWAR	DED TO EA	CH.	
	1000 #1	500 RR#4	500 RR#5	500 RR#6		BID	DTAL AM	OUNT AWAR	DED TO EA	СН.	
BIDDER	1000 #1 DEL	500 RR#4 DEL	500 RR#5 DEL	500 RR#6 DEL		BID	DTAL AM	OUNT AWAR	DED TO EA	сн.	
BIDDER BULLSKIN	1000 #1 DEL 20.50	500 RR#4 DEL 21.65	500 RR#5 DEL 24.40	500 RR#6 DEL 25.10	*TOTAL	BID BOND	DTAL AM	OUNT AWAR	DED TO EA	сн.	
BIDDER BULLSKIN STONE	1000 #1 DEL 20.50	500 RR#4 DEL 21.65 10,825.00	500 RR#5 DEL 24.40 12,200.00	500 RR#6 DEL 25.10 12,550.00	*TOTAL	BID BOND	DTAL AM	OUNT AWAR	DED TO EA	сн.	
BIDDER BULLSKIN STONE DERRY	1000 #1 DEL 20.50 20,500.00	500 RR#4 DEL 21.65 10,825.00 20.86	500 RR#5 DEL 24.40 12,200.00 23.44	500 RR#6 DEL 25.10 12,550.00 23.44	*TOTAL 120,450.00	BID BOND YES	DTAL AM	OUNT AWAR	DED TO EA	сн.	
BIDDER BULLSKIN STONE DERRY STONE	1000 #1 DEL 20.50 20,500.00	500 RR#4 DEL 21.65 10,825.00 20.86 10,430.00	500 RR#5 DEL 24.40 12,200.00 23.44 11,720.00	500 RR#6 DEL 25.10 12,550.00 23.44 11,720.00	*TOTAL 120,450.00	BID BOND YES	DTAL AM	OUNT AWAR	DED TO EA	сн.	
BIDDER BULLSKIN STONE DERRY STONE HANSON	1000 #1 DEL 20.50 20,500.00 0.00 20.50	500 RR#4 DEL 21.65 10,825.00 20.86 10,430.00 22.75	500 RR#5 DEL 24.40 12,200.00 23.44 11,720.00 24.75	500 RR#6 DEL 25.10 12,550.00 23.44 11,720.00	*TOTAL 120,450.00 33,870.00	BID BOND YES YES	DTAL AM	OUNT AWAR	DED TO EA	сн.	
BIDDER BULLSKIN STONE DERRY STONE HANSON AGGR.	1000 #1 DEL 20.50 20,500.00 0.00 20.50 20,500.00	500 RR#4 DEL 21.65 10,825.00 20.86 10,430.00 22.75 11,375.00	500 RR#5 DEL 24.40 12,200.00 23.44 11,720.00 24.75	500 RR#6 DEL 25.10 12,550.00 23.44 11,720.00	*TOTAL 120,450.00 33,870.00	BID BOND YES YES	DTAL AM	OUNT AWAR	DED TO EA	сн.	
BIDDER BULLSKIN STONE DERRY STONE HANSON AGGR. SLEEK	1000 #1 DEL 20.50 20,500.00 0.00 20,500.00 22.99 22,990.00	500 RR#4 DEL 21.65 10,825.00 20.86 10,430.00 22.75 11,375.00	500 RR#5 DEL 24.40 12,200.00 23.44 11,720.00 24.75 12,375.00	500 RR#6 DEL 25.10 12,550.00 23.44 11,720.00 26.50 13,250.00	*TOTAL 120,450.00 33,870.00 223,750.00	BID BOND YES YES YES		DUNT AWAR			
BIDDER BULLSKIN STONE DERRY STONE HANSON AGGR. SLEEK TRKG MOTION BY	1000 #1 DEL 20.50 20,500.00 0.00 20,500.00 22.99 22,990.00	500 RR#4 DEL 21.65 10,825.00 20.86 10,430.00 22.75 11,375.00 25.60 12,800.00	500 RR#5 DEL 24.40 12,200.00 23.44 11,720.00 24.75 12,375.00	500 RR#6 DEL 25.10 12,550.00 23.44 11,720.00 26.50 13,250.00	*TOTAL 120,450.00 33,870.00 223,750.00	BID BOND YES YES YES			LLOWS: (more		
BIDDER BULLSKIN STONE DERRY STONE HANSON AGGR. SLEEK TRKG MOTION BY	1000 #1 DEL 20.50 20,500.00 0.00 20,500.00 22,99 22,990.00 : JAMES	500 RR#4 DEL 21.65 10,825.00 20.86 10,430.00 22.75 11,375.00 25.60 12,800.00	500 RR#5 DEL 24.40 12,200.00 23.44 11,720.00 24.75 12,375.00	500 RR#6 DEL 25.10 12,550.00 23.44 11,720.00 26.50 13,250.00	*TOTAL 120,450.00 33,870.00 223,750.00	BID BOND YES YES YES		T BIDS AS FO	LLOWS: (more 50.00	e/less)	
BIDDER BULLSKIN STONE DERRY STONE HANSON AGGR. SLEEK TRKG MOTION BY BULLSKIN DERRY#1	1000 #1 DEL 20.50 20,500.00 20,500.00 20,500.00 22,99 22,990.00 : JAMES #6/ #9/ #11	500 RR#4 DEL 21.65 10,825.00 20.86 10,430.00 22.75 11,375.00 25.60 12,800.00	500 RR#5 DEL 24.40 12,200.00 23.44 11,720.00 24.75 12,375.00 0.00 2ND BY: VA	500 RR#6 DEL 25.10 12,550.00 23.44 11,720.00 26.50 13,250.00 0.00	*TOTAL 120,450.00 33,870.00 223,750.00	BID BOND YES YES YES		T BIDS AS FO 120,4	LLOWS: (more 50.00 7 <mark>0.00</mark>	e/less) MORE/LESS	
BIDDER BULLSKIN STONE DERRY STONE HANSON AGGR. SLEEK TRKG MOTION BY BULLSKIN DERRY#1	1000 #1 DEL 20.50 20,500.00 20,500.00 20,500.00 22,99 22,990.00 : JAMES #6/ #9/ #11 1/ #12 / #1	500 RR#4 DEL 21.65 10,825.00 20.86 10,430.00 22.75 11,375.00 25.60 12,800.00	500 RR#5 DEL 24.40 12,200.00 23.44 11,720.00 24.75 12,375.00 0.00 2ND BY: VA	500 RR#6 DEL 25.10 12,550.00 23.44 11,720.00 26.50 13,250.00 0.00	*TOTAL 120,450.00 33,870.00 223,750.00	BID BOND YES YES YES		T BIDS AS FO 120,4 33,87	LLOWS: (more 50.00 50.00 50.00	e/less) More/Less More/Less	

UNAN: 2 YES/0 NO

(V. Tantlinger-YES /P. Altimus-ABSENT/ J. Brown-YES)

FAIRFIELD TOWNSHIP REGULAR MEETING HELD ON APRIL 12, 2018(7pm)

PAGE 2

		B	BIDS FOR A	sphalt	I-W COC	G OPE	NED ON	MARCH	26, 2	2018				3Y: _	VA	UGHN
			#14Superp	ave 9.5 r	nm	#15-	-Superpa	ive 19.00					ACCEPT	BID FF	ROM:	
				SRL-G PG 64-22-0-0.3 mm Bir		nder SRI	-G PG 64	ŀ-				HANSON	ONLY	BID RE	CEIVED	
			million ESALs (II				22 0 -0.3 million		on ESALS(ID			10%	MORE/LE	SS		
BIDDER			Wearing F	ine Grad			nder Fin					BID	2nd BY		J۵	MES
PICK UP	-		-											-		
ONLY	TON		10		4.00		1000		00	10	TAL BID	BOND	UNANIMO (V. TANT	_		5 / 0 N
HANSON	UNIT	ī		54	4.00			48.	00				P. ALTIM			BROWN-
FOB	тот	AL		54,00	0.00			48,000.	00	\$102	2,000.00		YES)			
Bidder MIDLAND ASPHALT RUSSELL STANDARD SUIT- KOTE AWARDED MOTION	Gal. Unit Total Unit Total Unit Total AS A BY	2: 2: 2: 2: 2: 2: 2:	/ED FOR: #16 \$-2/CRS-2 (E-2/E-3) 15,000 1.72 5,800.00 1.72 2,800.00 1.737 6,055.00 JAMES /AUGHN	#1 RS-2 CRS- (E-2M/ 10,00 1.9 19,00 1.7 17,80 1.8 18,90 ACC	7 PM/ 2PM E-3M) 00 00 0.00 80 0.00 90 0.00 90 0.00	# PR 10, 1.4 14,44 1.5 15,00 ALL B RUSS	18 -1 IME 000 140 00.00 140 00.00 500 00.00 IDS AR	# MC 5,(2.6 13,2 2.5 12,8 3.0 15,3 5 5 3.0 15,3 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5	19 5-70 500 50.00 50.00 50.00 50.00 50.00 1ES 50.BE	0 0 0 5 ING TH	#20 L.B.M.(Liqu Bit. Matieria to produc FB & FB3 M 25,000 1.860 46,500.0 1.930 48,250.0 1.880 47,000.0	iid als e lod 00 00 00 00 00	RIALS I-W C #21 CSS-1H 25,000 1.540 38,500.00 1.390 34,750.00 1.740 43,500.00 RECEIVED. VS-ABSENT/A	тс <u>е</u> 157,- 150,- 165,-	DTAL BID 450.00 850.00 805.00	10% BID BOND YES YES YES
BIDS RECEI	VED FO	#22 del	#23 del	#	24 A del	#2 d	2018 4B el -Skid	#25 del				AN	ROM: DE	RRY S ⁻ /AS TH	IE ONLY	
		Anti-Skid			ti-Skid			#9 A a a a						•		
		AS3	AS1		AS2		SLAG	Aggr	-		BID		ND BY:			
BIDDERS		2000	2000		2000	20	00	5000	IC	DTAL	BOND		UNAN:		ES/ 0 NO	
DERRY STO	NE	22.99			22.99				407		YES	(V. TANTLINGER-YES/ P. ALTIMUS-ABSENT/J.BROWN-YES)				
******	****	<mark>45,980.00</mark> *****	,	,	980.00 *****	****	*****	*****	- ,	940.00						
Bids Receive																
DIUS RECEIV	ed for:	DSACU			20, 2010			Mot	ion							
			1500		TOT	AL	10%		by:		VAUGH	N				
Company Na	ame	TON		ON	POSSI	BLE	BID	2ND			JAMES					
		FOB	DELIV	'ERED	BID)	BOND	Acce	ept:	BUL	LSKIN-ON	LY BID	RECEIVED	(MORE	E/LESS)	
BULLSKIN		\$23.	50	\$23.60					nan		2 YES/ 0					
		\$35,250.0	00 \$35,·	400.00	\$35,40	0.00		(V. TANTLINGER-YES/P. AL'			LTIMUS-ABSENT/J. BROWN-YES)					
******** 2. FAIRFIE BIDS RECE		OWNSHIP	P159 MIC	GET C	AMP R	OAD	BOLIV	AR, PA	159	923					*****	****
			DDERS			,		JSSELL			MIDL		SUIT-K			1
#1 ITEM #			_					<u>1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 </u>	JIA	U 10	1		3011-K		1	-
$\frac{1112M}{2}$		NTITIE	s					72,50	0		72,5		72,50	0	72,500	-
#2 APPROX #3 UNIT	L QUA		3					72,50 SY			72,5 SY		72,50 SY		72,500 SY	-
$\frac{#3 \text{ UNII}}{#4 \text{ DESCR}}$	סודעו			NOUE				51			51		51		51	-
#4 DESCRI SEAL COA)			"					"		,,	
#5 UNIT P	,			5104/1	,			1.46	7				1.22			-
UINII F	UĽ							1.467 1.68 106,357.50 121,800.0						<u> </u>	-1	
#6 TOTAL								1116 45	/ 511		171 81	() ()()	88,450	00	0.00	

VAUGHN SAID IT IS AN IN PLACE BID. BIDDER SUPPLIES AND DOES EVERYTHING. MOTION BY <u>VAUGHN</u>; TO ACCEPT <u>LOWEST BID WHICH IS FROM SUIT-KOTE</u>; <u>CONTINGENT PAPER WORK IS IN</u> <u>ORDER.</u> 2ND BY <u>JAMES</u>; UNAN--2-YES/0-NO (V.TANTLINGER-YES/P.ALTIMUS-ABSENT/J.BROWN-YES)

YES

YES

YES

BID BOND

3. OPEN EQUIPMENT RENTAL BIDS—ADVERTISED IN LATROBE BULLETIN.

BID OPENIN	IG APR	IL 12, 2018 FOR EQUIPMENT RENTAL ADVERTISED IN LAT	ROBE BUI	LETIN. TO BE AV	VARDED	AS A SING	<u> GLE UNIT</u>
BIDDER	BID ITEM	DESCRIPTION OF EQUIPMENT INCLUDING SIZE AND/OR CAPACITY	EST HRS OF USE	MODEL OR SERIES ID	YR MFG	HRLY RATE BID	EST. TOTAL
	1	Paver capable of paving a minimum width of 10' to capacity of paving	24	VOGELE 5200-2	2008	385.00	\$9,240.0
	2	to 18' with full vibratory screen with two operators.					
	3	Tandem steel wheel roller vibratory minimum 10 ton	24	HD10VHV	2009	135.00	\$3,240.0
RUSSELL	4	Pneumatic roller-minimum 10 ton	15	HYPACK	2011	135.00	\$2,025.0
STANDARD	5	Adequate triaxle dump trucks-minimum 24 ton net load	90	MACKS	2011	115.00	\$10,350.0
	6	Tractor mounted power broom-minimum 8' width	8	CHALLENGER	2004	95.00	\$760.0
	7	Pneumatic tire loader-minimum 3 1/2 cy bucket	24	CAT 928G	2000	85.00	\$2,040.0
10% BID	8	Supervisor with pickup truck. Proper supervision of all operators and	24	DODGE	2016	60.00	\$1,440.0
BOND	9	equipment. Shall also provide safety and warning signs and hand					
YES	10	tools for proper maintenance and protection of traffic					
	11	Motorized chip spreader minimum 20' distribution	15	ETNYRE	2008	365.00	\$5,475.0
	12	PUG Mill-Must be state certified to produce FB Modified Material with	24	MIDLAND	2002	185.00	\$4,440.0
	13	a minimum of 9' mixing chamber, capable to blend 3 types of aggregate					
	14	Road Widener	24	ETNYRE	1998	350.00	\$8,400.0
		TOTAL BID					\$47,410.0

MOT BY: VAUGHN TO: <u>APPROVE THE ONLY BID THE TOWNSHIP RECEIVED FROM RUSSELL STANDARD</u>

UNAN- 2 YES/0 NO (V.TANTLINGER-YES/P.ALTIMUS-ABSENT/J.BROWN-YES)

2ND BY JAMES UNAN- 2 YES/0 NO (V.TANTLIN 4. OPEN PIPE BIDS ADVERTISED IN LATROBE BULLETIN—

BID OPENING APRIL 12, 2018 FOR PIPE BIDS. ADVERTISED IN LATROBE BULLETIN.

O BE AWARDE	DAJA					IDOT SPECIFI		
BIDDER	BID ITEM	DESCRIPTION OF PIPE INCLUDING SIZE AND/OR CAPACITY	APPR QUANTITY	UNIT		DEL. AS DIRECTED	TOTAL	
	1	12" THERMOPLASTIC PIPE-SMOOTH WALL	40	LF	MORE/LESS	4.00	\$160.0	
LANE	2	PLASTIC DOUBLE WALL SPLIT COUPLER 12'	1	EACH	MORE/LESS	4.51	\$4.5	
ENTERPRISE	3	15" THERMOPLASTIC PIPE-SMOOTH WALL	720	LF	MORE/LESS	5.76	\$4,147.2	
	4	15" PERFORATED THERMOPLASTIC PIPE	1100	LF	MORE/LESS	6.11	\$6,721.0	
10% BID BOND	5	PLASTIC DOUBLE WALL SPLIT COUPER 15"	50	EACH	MORE/LESS	8.51	\$425.5	
YES	6	18" THERMOPLASTIC PIPE-SMOOTH WALL	80	LF	MORE/LESS	7.33	\$586.4	
	7	18" PERFORATED THERMOPLASTIC PIPE	260	LF	MORE/LESS	7.59	\$1,973.4	
	8	PLASTIC DOUBLE WALL SPLIT COUPLER 18"	10	EACH	MORE/LESS	13.50	\$135.0	
	9	30" THERMOPLASTIC PIPE-SMOOTH WALL	40	LF	MORE/LESS	18.09	\$723.6	
	10	PLASTIC DOUBLE WALL SPLIT COUPLER 30"	1	EACH	MORE/LESS	37.00	\$37.0	
	11	36" THERMOPLASTIC PIPE-SMOOTH WALL	40	LF	MORE/LESS	23.33	\$933.2	
	12	PLASTIC DOUBLE WALL SPLIT COUPLER 36"	1	EACH	MORE/LESS	38.50	\$38.5	
				TOTAL B	ID		\$15,885.3	
	BID	DESCRIPTION OF PIPE	APPR			UNIT PRICE DEL. AS		
BIDDER	ITEM	INCLUDING SIZE AND/OR CAPACITY	QUANTITY	UNIT		DIRECTED	TOTAL	
	1	12" THERMOPLASTIC PIPE-SMOOTH WALL	40	LF	MORE/LESS	4.20	\$168.0	
PLEASANT	2	PLASTIC DOUBLE WALL SPLIT COUPLER 12'	1	EACH	MORE/LESS	6.80	\$6.8	
UNITY	3	15" THERMOPLASTIC PIPE-SMOOTH WALL	720	LF	MORE/LESS	5.65	\$4,068.0	
	4	15" PERFORATED THERMOPLASTIC PIPE	1100	LF	MORE/LESS	5.65	\$6,215.0	
10% BID BOND	5	PLASTIC DOUBLE WALL SPLIT COUPER 15"	50	EACH	MORE/LESS	7.06	\$353.0	
YES	6	18" THERMOPLASTIC PIPE-SMOOTH WALL	80	LF	MORE/LESS	7.75	\$620.0	
T	7	18" PERFORATED THERMOPLASTIC PIPE	260	LF	MORE/LESS	7.75	\$2,015.0	
	8	PLASTIC DOUBLE WALL SPLIT COUPLER 18"	10	EACH	MORE/LESS	11.60	\$116.0	
	9	30" THERMOPLASTIC PIPE-SMOOTH WALL	40	LF	MORE/LESS	18.75	\$750.0	
	10	PLASTIC DOUBLE WALL SPLIT COUPLER 30"	1	EACH	MORE/LESS	37.50	\$37.5	
	11	36" THERMOPLASTIC PIPE-SMOOTH WALL	40	LF	MORE/LESS	22.65	\$906.0	
	12	PLASTIC DOUBLE WALL SPLIT COUPLER 36"	1	EACH	MORE/LESS	56.40	\$56.4	
				TOTAL B		ORE/LESS 50.40		
BIDDER	BID ITEM	DESCRIPTION OF PIPE INCLUDING SIZE AND/OR CAPACITY	APPR QUANTITY	UNIT		UNIT PRICE DEL. AS DIRECTED	TOTAL	
DIDDEN	1	12" THERMOPLASTIC PIPE-SMOOTH WALL	40	LF	MORE/LESS	5.58	\$223.2	
CHEMING	2		40	EACH		5.58	\$225.2	
CHEMUNG SUPPLY	3	PLASTIC DOUBLE WALL SPLIT COUPLER 12'	720	LF	MORE/LESS	5.58 7.29	\$5.5	
JUFFLI	4	15" THERMOPLASTIC PIPE-SMOOTH WALL 15" PERFORATED THERMOPLASTIC PIPE	1100		MORE/LESS	7.29	\$3,248.8	
10% BID BOND	5	PLASTIC DOUBLE WALL SPLIT COUPER 15"	50	EACH	MORE/LESS	7.29	\$364.5	
YES	6	18" THERMOPLASTIC PIPE-SMOOTH WALL	80	LACIT	MORE/LESS	9.37	\$749.6	
123	7	18 PERFORATED THERMOPLASTIC PIPE	260	LF	MORE/LESS	9.37	\$2,436.2	
	8	PLASTIC DOUBLE WALL SPLIT COUPLER 18"	10	EACH	MORE/LESS	9.37	\$93.7	
	9		40	LF		23.40	\$936.0 \$936.0	
	10	30" THERMOPLASTIC PIPE-SMOOTH WALL	40	EACH	MORE/LESS	23.40	\$930.0	
	11	PLASTIC DOUBLE WALL SPLIT COUPLER 30"	40	LF	MORE/LESS			
	12	36" THERMOPLASTIC PIPE-SMOOTH WALL			MORE/LESS	27.55	\$1,102.0 \$27.5	
	14	PLASTIC DOUBLE WALL SPLIT COUPLER 36"	1	EACH	MORE/LESS	27.55	¢∠/.:	

BIDDER	BID ITEM	DESCRIPTION OF PIPE INCLUDING SIZE AND/OR CAPACITY	APPR QUANTITY	UNIT		UNIT PRICE DEL. AS DIRECTED	TOTAL
	1	12" THERMOPLASTIC PIPE-SMOOTH WALL	40	LF	MORE/LESS	4.19	\$167.60
WALSH	2	PLASTIC DOUBLE WALL SPLIT COUPLER 12'	1	EACH	MORE/LESS	5.20	\$5.20
EQUIPMENT	3	15" THERMOPLASTIC PIPE-SMOOTH WALL	720	LF	MORE/LESS	5.61	\$4,039.20
	4	15" PERFORATED THERMOPLASTIC PIPE	1100	LF	MORE/LESS	5.61	\$6,171.00
10% BID BOND	5	PLASTIC DOUBLE WALL SPLIT COUPER 15"	50	EACH	MORE/LESS	6.99	\$349.50
CERTIFIED CHECK	6	18" THERMOPLASTIC PIPE-SMOOTH WALL	80	LF	MORE/LESS	8.23	\$658.40
DISQUALIFIED-	7	18" PERFORATED THERMOPLASTIC PIPE	260	LF	MORE/LESS	8.23	\$2,139.80
DID NOT BID ON	8	PLASTIC DOUBLE WALL SPLIT COUPLER 18"	10	EACH	MORE/LESS	10.10	\$101.00
ALL ITEMS IN THE	9	30" THERMOPLASTIC PIPE-SMOOTH WALL	40	LF	MORE/LESS	20.84	\$833.60
CONTRACT.	10	PLASTIC DOUBLE WALL SPLIT COUPLER 30"	1	EACH	MORE/LESS	N/A	\$0.00
	11	36" THERMOPLASTIC PIPE-SMOOTH WALL	40	LF	MORE/LESS	24.71	\$988.40
*ADVISED OUR	12	PLASTIC DOUBLE WALL SPLIT COUPLER 36"	1	EACH	MORE/LESS	N/A	\$0.00
SOLICITOR.				TOTAL B		\$15,453.70	
BIDDER	BID ITEM	DESCRIPTION OF PIPE INCLUDING SIZE AND/OR CAPACITY	APPR QUANTITY	UNIT		UNIT PRICE DEL. AS DIRECTED	TOTAL
	1	12" THERMOPLASTIC PIPE-SMOOTH WALL	40	LF	MORE/LESS	4.80	\$192.0
LB WATER	2	PLASTIC DOUBLE WALL SPLIT COUPLER 12'	1	EACH	MORE/LESS	7.60	\$7.6
	3	15" THERMOPLASTIC PIPE-SMOOTH WALL	720	LF	MORE/LESS	6.45	\$4,644.0
	4	15" PERFORATED THERMOPLASTIC PIPE	1100	LF	MORE/LESS	6.45	\$7,095.0
10% BID BOND	5	PLASTIC DOUBLE WALL SPLIT COUPER 15"	50	EACH	MORE/LESS	7.85	\$392.5
YES	6	18" THERMOPLASTIC PIPE-SMOOTH WALL	80	LF	MORE/LESS	8.85	\$708.0
	7	18" PERFORATED THERMOPLASTIC PIPE	260	LF	MORE/LESS	8.85	\$2,301.0
	8	PLASTIC DOUBLE WALL SPLIT COUPLER 18"	10	EACH	MORE/LESS	12.90	\$129.0
	9	30" THERMOPLASTIC PIPE-SMOOTH WALL	40	LF	MORE/LESS	21.60	\$864.0
	10	PLASTIC DOUBLE WALL SPLIT COUPLER 30"	1	EACH	MORE/LESS	41.70	\$41.7
	11	36" THERMOPLASTIC PIPE-SMOOTH WALL	40	LF	MORE/LESS	24.80	\$992.0
	12	PLASTIC DOUBLE WALL SPLIT COUPLER 36"	1	EACH	MORE/LESS	62.70	\$62.7

MOTION BY: <u>VAUGHN</u> TO <u>ACCEPT LOWEST BID FROM PLEASANT UNITY CONTINGENT UPON PAPERWORK BEING IN</u> <u>ORDER.</u> 2ND BY <u>JAMES</u> UNAN-2 <u>YES/0 NO</u> (V.TANTLINGER-YES/P. ALTIMUS-<u>ABSENT-/J.BROWN-YES</u>)

VIII. NEW BUSINESS: 1. 2018 SPRING CLEANUP—MOTION BY JAMES TO ADVERTISE FOR MAY 5, 2018 AT THE MUNICIPAL BUILDING FROM 9 AM TO 1 PM; ADMISSION FEE \$5.00; IF THERE ARE ANY FEES THEY WILL BE ANNOUNCED FOR TIRES, FREON; ELECTRONICS; BATTERYS; 2ND BY VAUGHN; UNAN-2 YES/0 NO_ (V.TANTLINGER-YES/P. ALTIMUS-ABSENT-/J.BROWN-YES) TWP NEEDS VOLUNTEERS.

2. ADVERTISE FOR PLACEMENT OF FILL MATERIAL FOR 3 TWP ROADS TO BE OPENED AT THE REGULAR TWP MEETING HELD ON MAY 10, 2018 AT 3 PM; MOTION BY VAUGHN TO ADVERTISE; 2ND BY JAMES UNAN-2 YES/0 NO (V.TANTLINGER-YES/P. ALTIMUS-ABSENT-/J.BROWN-YES) VAUGHN STATED TWP WILL WORK ON THE DETAILS THE FIRST OF NEXT WEEK.

3. PAVING PROJECT - MOTION BY VAUGHN TO ADVERTISE FOR UMHEY ROAD PAVING PROJECT WITH PENDOT HELPING WITH THE AD AND CONTRACT; TO BE OPENED ON 5/10/2018 @ APPROX 3 PM TIME-REGULAR TWP MEETING; 2ND BY JAMES UNAN-2 <u>YES/0 NO</u> (V.TANTLINGER-YES/P. ALTIMUS-ABSENT-/J.BROWN-YES)
4. DIESEL THRU THE I-W COG---MOTION BY VAUGHN TO BID DIESEL WITH THE I-W COG TO BE OPENED BY I-W COG ON 4/30/18; TWP WILL AWARD ON 5/10/2018: 2ND BY JAMES; UNAN-2 YES/0 NO (V.TANTLINGER-YES/P. ALTIMUS-ABSENT-/J.BROWN-YES)

IX. PUBLIC COMMENT: 1. DAN BRENDLINGER 2. PAULA BROWN 3. LEONARD LONG ASKED IF YOU HAVE TO HAVE A PERMIT TO MOVE A MOBILE HOME INTO THE TWP—SUPPOSED TO. SECRETARY STATED THAT IT ONLY AFFECTS THE TAXES, THE PERMIT IS TO VERIFY ALL TAXES ARE PAID IN OUR TWP IN ORDER TO MOVE OUT OF OUR TWP. BUT MOVING IT WITHIN THE TWP MAY NOT REQUIRE A PERMIT FROM TAX COLLECTOR. ANDY ASKED IF DEEMERS GOT A PERMIT, TWP DID NO THINK SO. HE ASKED ABOUT THE TAP FOR DEEMER'S TRAILER, PROBABLY USES TAP FROM THE HOUSE, HOUSE NOT LIVABLE. VAUGHN SAID JEFF IS GOING TO LOOK INTO IT, AND THAT IS PROBABLY ALL THE TWP CAN DO ON THE CLEANING IT UP. 4. BONNIE LONG 5. CECELILA SISITKI
6. DAN FILIPPILLI (CHEMUNG) 7. EVAN SOBIESKI (SUIT-KOTE)

EMMA SAID SHE HAD NOTES FROM THE WESTD. CTY CONVENTION --ANYONE WANTS A COPY OF MY PERSONAL CTY CONVENTION MINUTES IS WELCOME TO THEM. THE MEETING WAS TOO LONG TODAY FOR ME TO READ THEM. IT IS USUALLY A LEARNING EXPERIENCE, VERY DISAPPOINTED IN IT THIS YEAR. THERE WAS SOME PEOPLE THAT RAN OVER AND A FEW THAT DID NOT GET THEIR TIME ALLOTTED BECAUSE OF THAT. EXAMPLE A STATE POLICE OFFICER AND MIKE O'BARTO. ATTORNEY'S AND LEGISLATURE SPENT A LOT OF TIME DISCUSSING INSURANCES BECAUSE OF UNITY TWP FIRE. BUT IT WAS ALREADY OVER. THE ONLY THING THAT I PERSONALLY BRING UP EVERY YEAR IS THE EMISSIONS TESTING FOR WESTMORELAND COUNTY—THERE ARE SURROUNDING TWPS NOT PAYING AND IT IS TIME TO QUIT IN WESTMORELAND. I HAVE SUGGESTED EVERYONE KEEP CONTACTING THEIR REPS AND SENATORS TO GET RID OF IT.

X. ADJOURNMENT: MOTION BY VAUGHN; 2ND BY JAMES; TO ADJOURN. 7:35 PM TIME UNAN-2 YES/0 NO (V.TANTLINGER-YES/P. ALTIMUS-ABSENT-/J.BROWN-YES)

 Fairfield Twp.-- 159 Midget Camp Rd. -- Bolivar, PA 15923 – 724-235-2140 – FAX 724-235-2752

 Fairfield Website:
 www.fairfieldtwp.com

 Email
 fairfield1773@verizon.net

 Emma J. Brendlinger, Sec-Tres